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b< s<b< ?= s<b< ?= s<b<

1 Jofkf<Ls j:t"

1 uxgf k;n 750-10000

1.1.1s= uxgf agfpg] k;n 750 750 800

1.1.2v= yf]s tyf tof/L uxgf ljqmL ug{] k;n 2000 2000 2000
1.1.3u= ;fgf  tyf tof/L uxgf ljqmL ug{] k;n 1000 1000 1000

1 dlb/f k;ndf

750/-
10000/-

1.2.1dlb/f v'b|f laqmL k;ndf 1000 1000 2000

1.2.2dlb/f yf]s laqmL k;ndf 3000 3000 4000

1 On]S6«f]lgs v'b| ;fdfg v'b| ljlqm 500/-5000/- 500 500 500

1.3.1O{n]S6f|]lgs ;fdfg yf]s ljlqm 1000 1000 1200

1.3.2sDKo'6/ las|L,dd{t 750 750 1000

1.3.3sDKo'6/ tyf sDo'6/ ;fdfg laqmL 1500 1500 1500

1.3.3.4l6 eL ,km|Lh,jfl;Ëd]l;g,Uof; r'Nxf] v'b|f 1000 1000 1000

1.3.3.43l8 /]l8of] Sofd/f ;fgf O{n]S6|\f]lgs ;fdfg v'b|f 500 500 800

1.3.3.5
3l8 /]l8of] Sofd/f ;fgf O{n]S6|\f]lgs ;fdfg 

yf]s 1000 1000 1200

1.3.3.6sDo'6/ ;km\6j]o/ tof/ ug{] sDkgL 3000 3000 3000

1.3.3.7:jL6/ a'Gg], l;nfO{ d]l;g 500 500 500

1 ljw't ;fdfg ljlqm k;ndf 500/-5000/-

1.4.1s= yf]s ljqmL ug{]df 1000 1000 1000

1.4.2v= v'b|f ljqmL ug{]df 500 500 500

1.4.3u= yf]s v'b|f ljqmL ug{]df 1000 1000 1200
1.5. xf8{jo/ ;fdfg k;n 500/-5000/-

1.5.1s= xf8{jo/ ;fdfg v'b|f ljqmL 1500 1500 2500

1.5.2v= xf8{jo/ demf}nf 2000 3000

1.5.3u= xf8{jo/ ;fdfg yf]s ljqmL 2500 3000 5000

1.5.43= xf8{jo/ nufPt pNn]lvt ;a} ;fdfgdf 3000 3500 5000

1.5.5ª= 3/df nfufpg] /Ë k;n 500 500 1000

2 cfon :6f];{ 500/-5000/-

1.6.1s= ! dfq kDk jf sf/f]jf/ 2500 2500 3000

1.6.2v= ! eGbf al9 kDk jf sf/f]jf/ 3500 3500 3500

1.6.3u= dl6t]n l8kf] 1500 1500 1500

1.6.4xNsf k]o kbfy{ las|L l8n/,-dlb/f hGo jfx]s+_ 360/-5000/- 2000 2000 2000

2 Uof; pBf]u 5000 5000 5000

1.7.1 Uof; l8n/ tyf ljqmLdf 2000 2000 2000
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2 sk8f k;n 360/-1000/-

1.8.1s= yf]s ljqmL ug{]df 1000 1000 1000

1.8.2v= v'b|f ljqmL ug{]df 700 700 700

2 ls/fgf lj;ftf k;n 360/-1000/-

1.9.1s= yf]s ljqmL ug{]df 1000 1000 1000

1.9.2v= v'b|f ljqmL ug{]df 500 500 500
1 k|f]lehg k;n 360/-1000/-

1 s= yf]s ljqmL ug{]df 1000 1000 1000

v= v'b|f ljqmL ug{]df 500 500 500

## ;jf/L ;fwg las|L

360/-
10000/-

nfO{6 ufl8 ;f] ?d tyf laqmLdf 3000 3000 4000

x]le ufl8 ;f] ?d tyf laqmLdf 6000 6000 6000

df]6/ ;fO{sn ;f] ?d tyf laqmLdf 2500 2500 3000

l/sG8L;g df]6/ ;fO{sn ;f] ?d 1500 1500 1500

l/sG8L;g nfO{6 df]6/ ufl8 ;f] ?d 2000 2000 2500

l/sG8L;g x]eL df]6/ ufl8 ;f] ?d 3000 3000 3500

2 laif]z1 k/fdz{ tyf cGo Joj;foLs ;]jf

2 O{lGhlgo/L8 sG;Nf6]lG;df 360/-3000/-

s= O{GhLlgo/÷cf]e/l;o/ ;a} 3000 3000 3000

v= k|f]kfO{6/ l;k kmd{ 2000 2000 2000

u= ;fem]bf/L ,, 2500 2500 2500

3= k|f=ln=  ,, 3000 3000 3000
sfg'gL ;]jf Aoa;fodf 360/-3000/- 1000 1000 1000

SnLgLs ;~rfng ;]jf Aoj;fodf 2000 2000 3000

2 n]vf k/LIfs

s >]l0fsf] cl86/df 360/-3000/- 3000 3000 3000

v >]l0fsf] cl86/df 2000 2000 2000

u / 3 >]l0fsf] cl86/df 1000 1000 1000

2 bGt lSnlgs 2000 2000 3000

2 cg';Gwfg stf{ tyf k/fdz{bftf 3000 3000 3000

3 ladf Ph]G6 1000 1000 1000

3 ;e{]o/ 1000 1000 1000

3 cg'jfbs 1000 1000 1000

3 kz' lSnlgs 1000 1000 1000

3 z]o/ bnfn 1000 1000 1500

## Pc/ sfuf{} 1000 1000 1000
## 6fG;kf]6{ Aoa;fo 750/-3000/- 2000 2000 2000

## ;+:yfut k]06/

5000/- 
15000/- 5000 5000 5000
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3 lgdf{0f Joj;foL

2000/-
10000/-

3 9]s]bf/x? g=kf= af6 Ohfht k|Kt 5000 5000

s >]l0fsf] 7]s]bf/df 8000 8000 8000

v >]l0fsf] 7]s]bf/df 5000 5000 5000

u >]l0fsf] 7]s]bf/df 3000 3000 3000

3 >]l0fsf] 7]s]bf/df 2000 2000 2000

lghL 7]s]bf/ n]j/ sG6ofS6/ 2000 2000 2000

4 phf d'ns pBf]u

xfO8«f] kfj/ 5000 5000 7000

5 ko{6g pBf]u

tf/]  :t/ xf]6n

1000/-
50000/-

Ps tf/] xf]6n 5000 5000 5000

b'O{tf/] xf]6n 10000 10000 10000

ltg tf/] xf]6n 15000 15000 15000

rf/ tf/] xf]6n 20000 20000 20000

kf+r tf/] xf]6n 30000 30000 30000

l/;f]6{ 12000 12000 15000

xf]6n,nh,u]i6xfp;,/]i6'/f cflb Aoa;fo

1000/-
50000/-

s= xf]6n tyf nh

!j]]}}]8 b]lv !)j]8;Dd 2000 2000 2500

!!j]8 b]lv @) j]8 ;Dd 2500 2500 3000

@) a]8 b]lv dfly ;a} 3000 3000 3500

6 /]:6''/]]i6

1000/-
50000/-

kmf:6km'8 /]:6'/]06 tyf k;n 1500 1500 2000

];fw/0f lrof, 500 500 500

vfhf 3/ 800 800 1000

! 6]an b]lv % 6]an ;Dd 1500 1500 2000

^ 6]an b]lv !) 6]an ;Dd 2000 2000 2500

!!6]]jn b]lv @) 6]]jn ;Ddsf] ;fwf/0f nfO{ 2500 2500 3000

@) 6]]jn b]lv dfly 3000 3000 3500

af/ ;dfj]; ePdf yk

1000/-
50000/- 3000 3000 3000

lut uhn /  cfbL 5000 5000 5000

Sofl;gf] ;+rfng

50000/- 
100000/- 50000 50000 50000

lgoldt vfgf k;nnfO{ 1000 1000 1000

6|\]ls8 Ph]G;L 1000 1000 1000

6|fen Ph]lG;

1000/-
50000/- 1000 1000 1500
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6|]ls8 ;fdfg k;n

1000/-
50000/- 1000 1000 1000

uNkm sf];{

1000/-
50000/- 2500 2500 2500

UnfOQlŠ8é, x6 Po/ Jofn"lgé 
cflbdf

1000/-
50000/- 2500 2500 3000

7 ;]jf pBf]u

sn/ Nofa 7'nf] 400/-7000/- 5000 5000 5000

sn/ Nofa ;fgf] 2000 2000 2000

;]jf d'ns pBf]udf -5fkfvfgf,k/fd;{, rnlrq 400/-7000/- 1500 1500 1500

xjfO{ ;]jf, l;t e08f/ cflb pBf]u 400/-7000/- 2000 2000 2000
8 ;+rf/ ;]jf

;+~rf/ ;]af - ;fO{j/_

360/-
15000/-

nf]sn, /fli6o,cGt/f{li6o kmf]g km]S; cflb 500 500 500

6]lnkmf]g ;]jf ;~rfns sDkgL o'l6Pn,d]/f] df]= 1500 1500 1500

df]jfO{n kmf]g laqmL 800 800 1000

Pkm= Pd /]l8of] 2000 2000 2000

/]sl8{ª :6'l8of] 1000 1000 1000

;fO{{a/ , Sofkm] 1000 1000 1200

6]nLkmf]g,l6le, Pkm={{Pd= 6fj/ -k|lt_ 10000 10000 10000
kmf]6f]slk 360/-1500/- 500 500 1000

s'/Lo;{ tyf PS;k|]; 8]lne/L /fli6|\o 360/-1500/- 500 500 500

ldl8of xfp;÷klqsf l8n/ 500 500 500

s'/Lo;{ tyf PS;k|]; 8]lne/L /fli6|\o tyf 

cGt/f{l6|\o 1000 1000 1000

9 lalQo ;]jf

lalQo ;]jf

5000/- 
50000/-

lglh If]qsf] afl0fHo a}+s sf] d"Vo sfof{no 15000 15000 15000

,,   a}+s sf] zfvf sfof{no 10000 10000 10000

cfly{s sf/f]jf/ ug]{ laQ sDklgsf] d'Vo 

sfof{no

5000/- 
10000/- 10000 10000 10000

 ,,  sf] zfvf sfof{no 3000 3000 3500

;xsf/L a}s / ax'p2]ZoL -s[lif afx]s_ art 

tyf C0f zxsf/L ;+:yf 1500 1500 2000

lab]lz d'b|f ;6lx

1000/-
3000/- 1000 1000 1000
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dlg 6|G;km/ 2000 2000 2000

ljdf sDklg

5000/-
10000/- 5000 5000 5000

10 :jf:Yo ;]jf

gl;{8 xf]d tyf c:ktfn Aoa;fodf

1500/-
5000/-

 !% ;}of ;Dd Aoj:yf ePsf]df 3000 3000 3000

 !% eGbf dflysf]df 4000 4000 4000

8]06n c:ktfn 4000 4000 4000

x:kL6n ;fdfu|L laqmL 2000 2000 2000

k|fs[lts lrlsT;f s]Gb| 1500 1500 1500

hl8a'l6 tyf xj{n ;fdfu|L v/Lb laqmL 1500 1500 1500

PS;/] tyf Kofyfnf]hLs, lSnlgs, Nofj 500/-3000/- 1000 1000 1000

11 lzIff ;]jf

8fO{le8 O{:6LRo'6

1000/-
3000/- 1000 1000 2000

sf]lr8 ;]G6/,sDKo'6/ l;sfpg]

1000/-
3000/- 1500 1500 1500

lab]zL efiff sIff ;+rfng 1500 1500 2000

lghL SofDk; tyf k|fljlws lzIFfno 360/-1000/- 1000 1000 1000

lglh laBfno

k'j{ k|fylds 500 500 700

k"j{ k|fylds b]lv  k|f=la= :t/ ;DdnfO{ 360/-1000/- 700 700 800

 k|f=la= b]vL  lg=df=la= :t/ ;DdnfO{ 1000 1000 1000

lg=df=la= b]vL df=la= :t/ ;DdnfO{ 1000 1000 1000

df=la= b]vL 10+2 ;DdnfO{ 2000 2000 1000

;+lut,8fG;,Jo'l6kfn{/,:Sofkmf]lN88 tflnd 1000 1000 1000

df]jfO{n /]l8of] dd{t tflnd s]Gb| 1000 1000 1000

cl8of] tyf lel8of] ;]jf 500 500 500

12 dd{t ;+ef/ ;]jf

nfO{6 df]6/ ufl8 dd{t 100/-3000/- 1500 1500 1500

x]le df]6/ ufl8 dd{t 2500 2500 2500
 xfjf eg{] , k~r6 6fNg] 360/-5000/- 360 360 500

 ;fOsn dd{t 360/-1500/- 360 360 500

 df]6/ ;fOsn dd{t js{;k 360/-3000/- 1000 1000 1000

 n'uf l;pg] sn / aGb's dd{t 360/-5000/- 400 400 500

 :6f]e,5ftf ,k|];/ s's/ cfbL dd{t 360/-5000 400 400 500
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 /]lkm|h]/]6/ lx6/ k+vf Uof; r'Nxf] / 6f|G;kmd{/ 

dd{t 360/-1500/- 1000 1000 1500
 lel8of] l6=le 8]s dd{t 360/-1500/- 500 500 500

;jf/L ;fwgsf] kf6{k'hf{ ljqmL k;n 1000 1000 1000

df]6/ w'g] js{;k 700 700 700

38L dd{t tyf laqmL k;n 360/-1500/- 500 500 800

/]l8of] 3l8 dd{t 360/-1500/- 500 500 800

la1fkg ;]jf

1000/-
1500/- 1000 1000 1000

;]s|]6/Lon ;le{;

1000/-
1500/- 1000 1000 1000

j}b]lzs /f]huf/ ;]jf 

1500/-
5000/- 5000 5000 5000

13 cGo ;]jf

xfplh+u sDklg, 3/ hUuf v/Lb ljlqm kmd{sf]

1500/-
5000/- 5000 5000 5000

xhfd tyf Jo'l6kfn{/ 360/-1500/-

$ l;6 ;Ddsf] 400 400 500

$  l;6 eGbf dfyLsf]] 500 500 500

Ao'l6kfn{/ 400 400 500
14 ;'lrsf/ k;n 360/-1500/-

# sn;Ddsf] 400 400 500

# b]lv dfly 500 500 500

 O{G6/ns O{Da|fO8/L 500 500 500
sk8f w'nfO{ 360/-1500/-

;fwf/0f k;ndf 400 400 500

nfp08\L pwf]udf 800 800 800
15 kmf]6f] Aoj;fo 360/-1500/-

s= kmf]6f] lvRg]df 400 400 500

v= kmf]6f] lvRg] / cGo ;fdfg a]Rg]df 500 500 500

u= lel8of] t:jL/ tyf kmf]6f] lvRg]df 700 700 700

lut /]s8{ tyf lelhof]n tof/ ug]{df 1000 1000 1000

16 ;fO{gaf]8{ lrq agfpg]df 360/-1500

s= ;fO{gjf]8{ cflb n]Vg]df 400 400 500

v= ;fO{gjf]8{, aNs / cGo lrq n]Vg]df 500 500 750

u= sk8fdf lrq agfpg] yfGsf cf6{ 500 500 500

kN:6Ls, t'n Jofg/ cflb tof/ ug]{ 750 750 750

dfj{ndf n]Vg] 1000 1000 1000

3= l8hfO{g ;]G6/ 500 500 500
17 df5f, df;', k;n 360/-1000/-

s= ;fwf/0f k;ndf 400 400 700

v= km|];xfp;df 500 500 1000
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km'n la?jf las|]tf tyf g;{/L 360/-1000/- 400 400 500
k'n, :gf]s/ / ljnLP8{ 360/-1000/- 500 500 500

u= l;;f tyf KnfO{p8 ;fdfg 360/-1000/- 1000 1000 1000
18 ef8f k;ndf 360/-1000/-

 yf]s ljqmL ug{]df 1000 1000 1000

 v'b|f ljqmL ug{]df 500 500 700

 lsrg xfp; h:tf ld>Lt k;ndf 500 500 700

:6Ln, sf7 cflbsf kmlg{r/,  las|]tf 500/-1500/- 1000 1000 1000

v]nf}gf pkxf/ lukm6 las|]tf 100/- 500/- 500 500 500

g]6 js{ s]jn nfO{g 5000 5000 5000

19 cGo Joj;fo

O{G6/g]6 ;]jf lat/0f 1500 1500 1500

d;fh ;]G6/

1000/-
3000/- 1500 1500 1500

l8kf6{d]G6n ;'k/dfs{]6 cflbdf 360/-5000/- 3000 3000 3000

kfs{ lklSgs :kf]6 ;/;kmfO{sf] nflu @) hgf 

;Dd 100 100 100

kfs{ lklSgs :kf]6 ;/;kmfO{sf] nflu @! - 30 
hgf ;Dd 200 200 200

kfs{ lklSgs :kf]6 ;/;kmfO{sf] nflu #! B]lv 

dfly ;Dd 300 300 300

20 cGo

lstfa tyf :6]zg/L k;n 360/-5000/-

lstfa k;n dfq 400 400 700

 lstfa :6]zg/L k;n 500 500 700

 kqklqsf k;ndf 400 400 500
21 km]G;L k;n 360/-5000/-

s= ;fwf/0f k;ndf 500 500 700

v= cGo lab]zL ;fdfg ;lxt las|L ug]{ km]G;Ldf 1000 1000 1000

u= s'yf{ ;njf/ las|Ldf 1000 1000 1000
kfg k;ndf 360/-5000/- 500 500 700
h'Qf rKkn dd{t k;ndf 360/-5000/-

# hgf sflnu9df 400 400 500

# b]lv dfly 500 500 500
22 cf}iflw k;n 360/-5000/-

 8fS6/L cf}iflw yf]s ljqmL ug{]df 2000 2000 3000

  ,,  v'b|f ljqmL ug{]df 1000 1000 1500

 cfo'{j]lbs cf}iflw yf]s ljqmL ug{]df 800 800 1000

 ,,  v'b|f ljqmL ug{]df 700 700 800
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Nkmf]l/8 P08 kmlg{l;8df 360/-5000/- 1000 1000 1500

kmf]6f] k|m]dfdf /fvL kmf]6f] ljlqm k;ndf 360/-5000/- 500 500 700

aS;f agfpg] tyf dd{t k;ndf 360/-5000/- 500 500 700

23 r'/f tyf >[uf/ ;fdfgdf 360/-5000/-

 yf]s lalqm ug{]df 1000 1000 1000

 v'b|f lalqm ug{]df 500 500 700

24 r:df ljlqm tyf dd{t 360/-5000/- 500 500 700

h'Qf rKkn emf]nf lalqm ug{]df 360/-5000/- 500 500 700

kz' jf s'v'/fsf] bfgf tyf cf}ifwL ljlqm 360/-5000/- 1000 1000 1500

lr/fg sf7 dfq ljlqmdf

360-/-
5000/- 1500 1500 2000

25 ldn 360/-5000/-

s= wfgs'6g],ds} lk;g] h:tf Ps  sfd ug{]df 700 700 900

v= ,, Ps eGbf al9  sfd ug{]df 1500 1500 2000

u= c6f]d]l6s /fO; ldn 5000 5000 5000

3= ;fd'bflos ldn 500 500 700

26 ko{6g ;fdfg lalqm ug{] k;ndf 360/-5000/- 500 500 700

;fO{8 l;g,b[Zofjnf]sg kmd{ Aoj;fodf 360/-5000/- 800 800 1000

laleGg pkxf/ sfo{qmdsf] 360/-5000/- 1000 1000 1200
l6s6 /Lh{e];g 360/-5000/- 600 600 800

27 l8n/ 360/-5000/-

r'/f]6, ljl8 h:tf w'd|kfg l8n/                             3000 3000 4000

cGo l8n/ 1500 1500 2000

28 sjfl8 sf/f]jf/ 360/-5000/-

sjf*L ;_sng Jofj;fo jflifs 5000 5000 5000

KNff:6Ls,sfuh cflbdf 1500 1500 2000

cGo ;a}df 2000 2000 2000
29 kmnkm'n t/sf/Ldf 360/-5000/-

yf]s las|Ldf 500 500 700

v"bf| las|Ldf 400 400 700

30 d];Lg/L cf}hf/ / d]l;g lalqm 360/-5000/- 1500 1500 2000

lglh v]ns'b :yn, :kf]6{; Nsa 360/-5000/- 1000 1000 1500

of]uf>d Wofg s]Gb| 360/-5000/- 700 700 1000

kf}l8 kf]v/L 360/-5000/- 1000 1000 1500
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sl6ª 9'uf+ tyf lu§L, jfn"jf  O{§ ;Knfo;{ 1000 1000 1500

6]G6 xfp; 360/-5000/- 1000 1000 1500

;fp08 l;i6d ef8df tyf las|L 500 500 700

v;L af]sf lHfpbf] ljlqm 360/-5000/- 500 500 700

e]6]g/L ;le{; 360/-5000/- 1000 1000 1500

Sof^l<ª ;]jf 360/-5000 1000 1000 2500

xf]:6]n 5fqjf; 1500 1500 2000

k[l/; a'§f /]lnª lqsf]if cfbL lgdf0f{ ug]{ 500 500 700

s|;/, 9'+uf, lu6L, afn'jf, O§f laqmL l8kf] 1000 1000 1500

31

ufpgu/ ;fem]bf/L sfo{s|daf6 C0f nufgLdf 

Joa;fosf] xsdf dfq -% jif{;Dd ;f]eGbf 

dfly Joj;fosf] cfwf/df_ 360 360 700

ldlg dfs]{^ tyf ;lkª sDKn]S; 5000 5000 5000

af]lMª sDkgL tyf kfgL laqm]tf 1500 1500 2000

Pso'<Lod k;n 500 500 700

a^g ;k 400 400 700

Hof]ltif ;]jf 500 500 700

plg wfuf] laqm]tf 400 400 700

l;d]G^sf] 700 700 1000

l;g]df xn 2000 2000 4000

1500 1500 2000

af; laqmL k;n 400 400 700

uf{O{ e};L afv|f tyf kz''HfGo kfNg] < laqmL ug{] 500 500 700
32 360/-5000/- 1000 1000 1500

O{G^<g]^ ;]jf lat<s 2000 2000 2500

1000 1000 1500
33  pBf]u Joj;fo

pTkfbg d'ns pBf]u - 3/Fo;L pWFF]Uf afx]sdf _

2000/-
10000/-s= ? % nfv ;Ddsf] ] s'n k'hLdf ;~rflnt 

pBf]udf 2000 2000 2500
v=? % nfv b]vL !) nfv ;Dd k'lh ePsf] 2500 2500 3000u=? !) nfv b]vL @) nfv ;Dd k'Flh s'n k'hL 

ePsf] 3500 3500 35003=? @) nfv b]vL %) nfv ;Dd s'nk"Flh 

ePsf]  4000 4000 50008=? %) nfv b]vL ! s/f]8 ;Dd s'n k'Flh 

ePsf] 8000 8000 10000
8=? ! s/f]8 eGbf dfyL s'n k'Flh ePsf] 10000 10000 12000

34 ;fgf tyf 3/fo;L pWff]ux? M

# hgf;Dd sfdbf/ /flv ;+~rflnt ;a} 

lsl;dsf 3/Fo;L pBf]u 2000 2000 2500

% hgf;Dd sfdbf/ /flv ;+~rflnt ;a} 

lsl;dsf 3/Fo;L pBf]u 2200 2200 3000

 & hgf;Dd sfdbf/ /flv ;+~rflnt ;a} 

lsl;dsf 3/Fo;L pBf]u 2500 2500 3000

35 rfprfp, lais'6, rSn]6 cfbL pBf]udf 8000 8000 10000

Knfl6s pBf]u 5000 5000 5000
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t]n ldn ,, 3000 3000 5000

KnfO8  ,, 8000 8000 10000

ldg/n jf6/ 2500 2500 3000

kfOk pBf]u 5000 5000 7000

36 kmlg{r/

kmlg{r/ ;fgf] ;/s'n/ ePsf] 1000 1000 1500

kmlg{r/ demf}nf ePsf] 2000 2000 2500

kmlg{r/ 7"nf] 6\ln ePsf] 3000 3000 3500

37 xhfl/ pBf]u 6000 6000 7000
38

s[lif tyf kz"kG5L df cfwf/Lt pBf]u 

Joj;fodf

1500/-
10000/-

s= ! b]lv %)) ;Dd s'v'/f kfNg]nfO 1000 1000 1500
v= %)) b]lv @))) ;Dd s'v'/f kfNg]nfO 2000 2000 2500
u= @))) b]lv %))) ;Dd s'v'/f kfNg]nfO 3000 3000 3500
3=%))) eGbf dfly kfNg]nfO{ 4000 4000 4500
a+u'/ kfng Joj;fodf @%j6f ;Dd kfNg]nfO{ 1500 1500 2000
a+u'/ kfng Joj;fodf @% b]lv dfly 4000 4000 4500
df5f kfng Joj;fo -lghLkf]v/L_ k|lt kf]v/L 100 100 200

39 vlgh tyf aghGo pBf]u

1500/-
10000/-s= ? !) nfv ;Ddsf]  s'n k'hLdf ;~rflnt 

pBf]udf 1500 1500 2000v=? !)nfv b]vL @) nfv ;Ddsf] s'n k'hL 

ePsf] 2000 2000 2500u=? @)nfv b]vL #) nfv ;Ddsf] s'n k'hL 

ePsf] 3000 3000 3500
3=? #)nfv b]vL dfyL ;Ddsf] s'n k'hL ePsf] 5000 5000 5000

40 #< hUUffs< 

#< / hUuf afxfn <sdsf] 2%sf b<n] #< / P]g cg";f< 2% 2% 2%

hUuf wlgaf^ #< / hUuf afxfn s< lng] M:yflgo :jfoQ zfzg P]g 2055 sf] bkmf 136 
< P} sf] lgodfjnL 2056 sf] lgod 140 
cg';"lr 8 adf]lhd lgDg cg";f< d"No < b< 

41 aflif{s ;jf<Ls< lgod 143

s= a; ^|s cflb &'nf ;jf<L ;fwg ko{^s 
;d]tPssf] aflif{s ?

1000/- 
3000/- 1000 1000 1000

;jf<L ;fwg Pssf] aflif{s ?
500/-  
1000/- 500 500 500

u= lghL cflb demf}nf ;jf<L ;fwg Pssf] 
aflif{s ? 400 400 400

;fwg 200 200 200

Pssf] aflif{s ?
200/-  
500/- 200 200 200

r= lghL ^||]S^< 200 200 200

%= kfj<^]n< ^|]S^< cflb Pssf] aflif{s ? 50/- 200/- 150 150 150

h df]^< ;fO{sn :s"^< cflb Pssf] ? 50/- 200/- 50 50 50

em= ^]|S^< &"nf] 350 350 350

&]nf btf{  gljs<)f  gDd<Lª 100 100 100
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42

k^s] ;jf<L s< lgDg ;*sx?df 
:yf=:j=lgodfjnL 2056sf] lgod 143 cg';'lr 
11 cg';f< Go'gtd z'Ns lng]

n]vfgy rf]s b]lv l<§]kfgL ;*s 75000 75000 75000

sflnsfrf]s b]lv y'd ;*s lh=la=;= lh=la=;= lh=la=;=

cfb{zrf]s b]lv k^\g]<L ;*s 75000 75000 75000

lzz'jf b]lv b]p<fnL km]bL ;*s 16500 16500 16500

tNnf] uuguf}*f b]lv hgtfsf] rf}tf<f ;*s 15000 15000 15000

lzz'jf b]lv cfb{z rf[s ;*s 10000 10000 10000

j]ugf; b[lv v'lb ;*s 10000 10000 10000

cfon lgud b]lv d';']^'*f ;}lgs a:tL ;*s 110000 110000 110000

a<fny<, tfufsf] d'v ;ftd'xfg] vf'nfsf] %]p 15000 15000 15000

lzz'jf b]lv :ofªv'bL ;*s 10000 10000 10000

lzz'jf b]lv lbkfª ;*s 10000 10000 10000

k|utL rf]s b]lv <fdHof]tL , lbk]Gb| rf]s ;*s 10000 10000 10000

a'l(ahf< b]lv vfi^]tfn ;*s 10000 10000 10000

c#f}{b]lv cr{n] ;*s 10000 10000 10000

j]ugf; tfn b]lv tfnj];L lh=la=;= lh=la=;= lh=la=;=

43
dgf]<Ghg s< ut lg)f{ocg";f< d;Ls Psd'i& 
lng]  lgod 145
l;g]df xn dfl;s 2Ük|lt l6s62Ük|lt l6s6 2Ük|lt l6s6

hfb' ,;s{;, r^s b]]vfpg]jf^ k|lt lbg 2 k|lt l6s6 2 k|lt l6s6 2 k|lt l6s6 

;fj{hlgs hUufdf l^s^ lng]u<L dgf]<Ghg 
k|lt l^s^ 2 k|lt l6s6 2 k|lt l6s6 2 k|lt l6s6 

dxf]ija tyf d]nfdf b]vfpg] jfn pBfg k|lt 
l^s^ 2 k|lt l6s6 2 k|lt l6s6 2 k|lt l6s6 

44 la!fkg ;fj{hlgs tyf km"^kfydf 

afx]sdf

;fOgjf]*{, xf]l*ª jf]*{, Un'jf]*{ cfbL 25 ju{ km'^ 
;Dd

 400.00  400.00
;fj{hlgs :yfgdf 

k|ltju{km'^ 60 < lghL 
:yfgdf k|ltju{km'^ 40

;fOgjf]*{, xf]l*ª jf]*{, Un'jf]*{ cfbL 25 ju{ km'^ 
50 ju{km'^ ;Dd

 600.00  600.00
;fj{hlgs :yfgdf 

k|ltju{km'^ 40 < lghL 
:yfgdf k|ltju{km'^ 40

3= 50 ju{ km''^ eGbf dfly k|lt ju{km'^ yk 10 10 10
leQ]n]vg ;^< tyf jfndf k|lt ju{ km'^ 5
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4= t'nJofg< <f]*qm; Jofg< PsxKtf ;Dd

50 ;f] 
eGbf dfly 
100.00

50 ;f] 
eGbf dfly 
100.00

50 ;f] eGbf dfly 
100.00

5= kf]n Jofg< k|ltuf]^f 50 50 50

6= jfnk]G^ k|lt ju{ km'^ 10k|lt ju{ km'^ 10 k|lt ju{ km'^ 10

dlb<f tyf ;"lt{hGodf la!fkg t'n Jofg< <fVg 
glbg] 

:jfldTjsf] hUuf jf #<df ePdf 50 k|ltzt 
sd lng]

xf]*Lª jf]*]sf] k|of]hgsf] nflu ;fj{hgLs hUuf 
k|of]u u<] afkt  k|lt ju{km'^ dfyL pNn]lvt 
b<df k|lt ju{km'^ 10 yk lng] 

JolQmut hUuf k|lt ju{km"^

45 lzkmfl<; b:t"< g=kf= lg)f{o

1. gfp¤;f<L, bf.vf. d[To"sf] dfnkf]t sfof{nodf 
x"g] lzkm<L;df 300 300

2= gS;fkf; gfp;f<L cf<=l;=l; #<sf] k|lt 
ju{lkm^ 

k|lt au{ 
lkm^ ? 3

k|lt au{ 
lkm^ ? 3 k|lt au{ lkm^ ? 3

3= gS;fkf; gfp;f<L sRrL #<sf] 300 300 300

4. k]G;g <xnkxn cflbdf 500 500 500

5. kfl<jfl<s k]G;g 600 600 600

6 gfu<Lstf l;kmf<L; 100 100 100

7. vfg]kfgL l;kmfl<; 350 350 350

46 8=laB't l;kmfl<; 

s.slRr #< l;Ën km]; 400 400 400

v= laB't y|L km]; 1500 1500 1500

u= c:yfoL ;'s'Daf;L 1000 1000 1000

#= cf< l; ;L #< Pstnf 500 500 500

ª= cf< l; ;L Pstnf eGbf dfly 700 700 700

9. ljB't, vfg]]kfgL, ^]lnkmf]g, gfd;f<L 300 300 300

10= gftf k|dfl)ft lzkmf<L;df g]kfnL 150 200 300

11= gftf k|dfl)ft lzkmfl<; cu|]hLdf 900 900 1000

12. cu|]hL l;kmfl<; ;j} ;fdfGo 800 800 900

47 13= #<, af^f] k|dfl)ft km"s"jf l;kmf<L;  

s= kxfl* efudf 

Ps 
lsTffsf] ? 

400 < 
k|lt lsQf 
? 50 yk 

Ps 
lsTffsf] ? 

400 < 
k|lt lsQf 
? 50 yk 

Ps lsTffsf] ? 500 < 
k|lt lsQf ? 50 yk 

;fy} 1 <f]kgL dfyL k|lt 
<f]kgL ? 100yk  
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v= ;dy< efudf 

Ps 
lsTffsf] ? 
800.0 < 
k|lt lsQf 

? 100 
yk 

Ps 
lsTffsf] ? 
800.0 < 
k|lt lsQf 

? 100 yk 

Ps lsTffsf] ? 500 < 
k|lt lsQf ? 50 yk 

;fy} 1 <f]kgL dfyL k|lt 
<f]kgL ? 200yk  

 13. dfnkf]]t

s. kxfl* efu
PsLs[t ;DktL s< nfu' 

x'g' k'j{sf] xsdf ?20

v. ;dy< efu
PsLs[t ;DktL s< nfu' 

x'g' k'j{sf] xsdf ?40

48

Plss[t ;DktL s<sf]] k'g{ d'Nofªsg ubf{ 
dfnkf]t sfo{fnon] sfod u<]sf] b<<]^ ;d]t 
nfO cfwf< dfgL cf=a= 2074/075 b]lv nfu' 
ug]{ 

15= rf< lsNnf k|dfl)ft l;kmfl<;

? 150 
Ps lsQf 

< To; 
kl% k|lt 
lsQf ? 

50

? 200 
Ps lsQf 

< To; kl% 
k|lt lsQf 

? 50

? 300 Ps lsQf < 
To; kl% k|lt lsQf ? 

100

16= ;DaGw laR%]b lzkmf<L;df 100 100 200

17. <fxbfgL l;kmfl<; 500 500 500

18. ;fdfGo l;kmfl<; ;j} 200 200 300

19. Joj;fo k|df)fkq 200 200 200

49 20. hUuf btf{ l;kmfl<; 

s_= ;dy< efu 
700 k|lt 

<f]kgL
700 k|lt 

<f]kgL 1000 k|lt <f]kgL

v= kxf*L efu 
300k|lt 

<f]kgL 
300k|lt 

<f]kgL 500k|lt <f]kgL 

hGd < ljjfx btf{ k|df)f kq g= kf af^ 
k|dfl)ft 500 500

21. hGd, ljjfx, d[To" 200 200 300

22= c:yfoL j;f]jf; l;kmfl<; 250 250 350

23= :yfoL j;f]jf; l;kmfl<; 250 250 350

50 24. hUuf Nkl^Ë lzkmf<L; k|lt <f]klg 3000 k|lt <f]kgL 3000 k|lt <f]kgL 5000 k|lt <f]kgL 

25. #< gSzf kf; ls=g= ;;f]wg 200 200 300

#< lgdf{)f ;DkGg l;kmfl<; _1 tnf 300 300 300

#< lgdf{)f ;DkGg l;kmfl<; _2 tnf eGbf dfyL 500 500 500

jf^f] k|df)FfLt a}_s k|of]hgsf nflu 300 300 300

pBf]u btf{ l;kmf<L; 300 300 300
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af^f] ;fj{hgLs l;kmfl<; k|lt ld^< 

100 ld^< 
;Dd 

?=500.00 
< To; 

100 ld^< 
;Dd 

?=500.00 
< To; 

100 ld^< ;Dd 
?=500.00 < To; dfly 
k|lt ld^< ?=10.00yk

lghL hUuf s^fg l;kmfl<; k|lt <f]kgL 1000 1000 2000

51  ;_:yf btf{ lzkmf<L; tyf glas<)fdf

s= cfdf ;d'x Snj dlxnf ;dfh cflb 
;fdflhs ;:yfdf 200 200 300

v= glas<)f lzkmf<L; k|lt aif{ 200 200 300

u. u]x| ;<sf<L ;:yf 1000 1000 1000

#. cGt<fl^«o u}x| ;<sf<L ;:yf 1500 1500 2000

ª. ;xsf<L ;:yf s[lif 200 200 300

52

s k|f= la= ;Ddsf nflu 1000 1000 1500

v= lg=df=la= ;Ddsf nflu 1500 1500 2500

u= df= la= ;Ddsf nflu 2000 2000 3500

53  cfo >f]t k|dfl)ft lzkmf<L; 

s= cfo >f]t k|dfl)ft lzkmf<L; ? 1 k|lt xhf<? 1 k|lt xhf< ? 1 k|lt xhf<

   s= ;"?sf] 1 ld^<df 1000 1000 1000

   v= To;kl% k|To]s ld^<df 500 500 500

   u. (n cGo kmf]]*\g] 1 ld^< ;Ddsf] 2000 2000 2000

   v= To;kl% k|To]s ld^<df 1000 1000 1000

54 kmf<d b:t"<

s=#< gS;fkf; kmf<d b:t"< 700 1000 1000

v ljljw b<vf:t kmf<dsf] 10 10 10

lgodfg';f< lgodfg';f< lgodfg';f<

55 pBf]u :yfkgf l;kmf<L; tyf  w<f}^L

w<f}^L  pBf]u g=kf=df btf{ kl% w<f}^L lkmtf{ 

ug]{ (k"hLsf] cfwf<df w<f}^L lng]_)

pBf]u btf{ l;kmf<L; 300 300 500

56 gSzfkf; b:t"< 

c:yfoL #<sf] gS;f kf; kxf*L efu 1000 1000 1500

c:yfoL #<sf] gS;f kf; kxf*L efu n'dGtL 700 700 1000

c:yfoL #<sf] gS;f kf; ;dy< efu n'dGtL 2000 2000 2500

Jns O§fsf] ufx|f] l^gsf] %fgf ePsf] 
4k|lt ju{ 

km'^
4k|lt ju{ 

km'^ 5 k|lt ju{ km'^
;Dk")f{ df^f]sf] hf]*fO{ ePsf] 2 ?k}of 2 ?k}of 3 k|lt ju{ km'^
e"ldut tnf k|lt ju{ km'^ 7 7 9

hldg tnf 7 7 9

klxnf] tnf 8 8 10

bf]>f] tnf eGbf dfly 10 10 12
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b< s<b< ?= s<b< ?= s<b<<fhdfu{n] %f]Psf #*]<Lx?df #< lgdf{)f ubf{ 

;flassf]] b<<]^df k|lt ju{km'^ pk<f]Qm b< <]^df 
yk b:t'< 

50 k};f 
yk lng] M

50 k};f 
yk lng] M ? 1 yk lng] M

 ;^< ePsf Jofkfl<s k|of]hgsf #<x?sf] ;a} 
tnfdf yk <fhZj k|lt :So< km'^  ? = 2 ?= 2 yk ?= 3 yk

57 #< g|Szf kf; b)* h<Ljgf 

cg'dtL lng' k'lxn]] hu vg]df 500 1000

cg'dtL lng' k'lxn]] l* lk ;L u<]df 1000 1500

cg'dtL lng' k'lxn]]  #< (Nffg u<]df 1500 2000

lwtf] tyf ;Dklt d"Nof_sg u<]afkt lgDg 
cg";f< d"Nof_sg ;]jf lng] M 50 k};f k|lt xhf< k|lt xhf< ? 1  k|lt xhf< ? 1

s= lab]z cWoog ug{ hfg] laBfyL{df 2500 2500 3000
58 kf]n, tf< nfO{g la:tf< z"Ns

;fj{hlgs hUuf cflbdf g]kfn laBt k|flws<)f, 
g]kfn ^]lnsd < s]j"n nfO{g cflbn] kf]n, 
Soflag]^, tf< ^|fG:km<d<,cflb <fvL nfO{g 
la:tf<df lgDg cg";f< df;Ls z"Ns lng] M

laB"t ;DaGwL
s= s]Gb|Lo laB"t nfO{gsf] kf]n Pssf] 1000 1000 1000

v= ;fwf<)f kf]n Pssf] 200 200 200

u= ^|fG;kmd{< Psssf] 500 500 500

#= tf< nfO{g Pssf] k|lt ld^< 10 k};f 10 k};f 10 k};f

g]kfn ^]lnsd

s= ;fwf<)f kf]n Pssf] 200 200 200

v= tf< nfO{g Pssf] k|lt ld^< 10 k};f 10 k};f 10 k};f

u= Soflag]^ Pssf] 500 500 500

 s]j"n nfO{g tf< k|lt ld^< 10 k};f 10 k};f 10 k};f

59 rnlrq %fofs_g z"Ns 

g.kf=If]qleqsf] s"g} klg :yfgdf rnlrq 
%fofªsg ubf{

g=kf=sf] k"j{ :jLs[t lng" kg]{ % M

:jLs[tsf] nflu lgDgfg";f< b<<]^ sfod u<LPsf] 
% M

s= g]kfnL rnlrq %fofªsgdf k|lt lbg 3000 3000 3000

v= lab]zL rnlrq %fofªsgdf k|lt lbg 6000 6000 6000

u= cGo %fofªsgdf k|lt lbgsf] 200 200 200

Joa;fo btf{ k|df)f kq k|ltlnkL 100 100 100

k|ltlnlk k|lt kfgf l;kmfl<;sf] 100 100 100

k|ltlnlk ;DkQLs<, gubL <l;b k|lt kfgf ] 50 50 50
gSzfkf;, :yfoL Ohfht kq, ;DkGg / 
gSzfsf] k|ltlnlk 100 100 100
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;"rgf ;DjG\wL xs cGt{ut ;'rgf dfu u<]df 
k||lt kfgf ? 15

cf=a= 2070/071 b]lv cuf*Lsf jif{sf] 
Joj;fo s< hl<jgfdf 50 k|ltzt %'^ lbg] M

60 *'Ëf Joj;foL

s= sf&sf] k^nf ePsf] *'Ëf jflif{s 500 500

v= Knfl^ssf] k^nf ePsf] *'Ëf jflif{s 500 500

u= 6 hgf eGbf al( l;^ ePsf] k}bn *'Ëf 
jflif{s 800 800

#= ;<;kmfO z'Ns k|lt l^k ?= 5 ?= 5
61 ;<;kmfO{ z'Ns df;Ls

s= Pstn] #< 30 30 30

v= b'O{ tn] #< 40 40 40

u= tLg tNnf jf ;f] eGbf dfly 50 50 50

Aoa;foLs k|of]hg

s= k|lt ;^< 30 30 30

v= k|m]; xfp;  xf]^n 100 100 100

u= js{ ;k 100 100 100

#= pBf]u sn sf<vfgf ;xsfo{ ;xsfo{ ;xsfo{

*= c:ktfn ;xsfo{ ;xsfo{ ;xsfo{

r= kf]nLlSnlgs d]l*sn ;Fs|dLt afx]s 100 100 100

%= laBfno sn]h _lghL tyf cfaf;Lo 200 200 200

h= lalQo ;:yf a}s, ;# ;:yf 100 100 100

em= km'^kfy Aofkf<L, x]o< sl^*= ;}n'g 30 30 30

`= d]nf dxf]T;j ;xdtL ;xdtL ;xdtL

^= kfs{ ,dlGb<, a;kfs{ ;fd'bflos ejg, 
rf}tf<f, kf^Lxn, ;*ssf] bfof afof km|oflsg] 
kmf]xf]< ;xdtL ;xdtL ;xdtL

&= s'v'<f v;L <fuf ;KNffo;{ 200 200 200

lkSgLs z'Ns k|lt ;d'x 700 700 700

xf]^n

s=lrof k;n 30 30 30

v= lrof vfhf k;n 40 40 40

xf]^n u]:^xfp; l<;f]^

s= l<;f]^{ 1000 1000 1000

v= xf]^n 10 sf]&f ;Dd 150 150 150

u= xf]^n 11 sf]&f dfly 250 250 250


